
FunktionsgraphenFunktionsgleichungen

Wertetabellen

𝒈 𝒙 = 𝟐 ∙ 𝒙𝟐

𝒉 𝒙 =
𝟏

𝟐
∙ 𝒙𝟐

𝒔 𝒙 = −𝒙𝟐𝒇 𝒙 = 𝒙𝟐

𝒕 𝒙 = −𝟐 ∙ 𝒙𝟐

𝒖 𝒙 = −
𝟏

𝟐
∙ 𝒙𝟐

x -3 -2 -1 0 1 2 3

𝒇(𝒙) 9 4 1 0 1 4 9

𝒈(𝒙) 18 8 2 0 2 8 18

𝒉(𝒙) 4,5 2 0,5 0 0,5 2 4,5

𝒔(𝒙) -9 -4 -1 0 -1 -4 -9

𝒕(𝒙) -18 -8 -2 0 -2 -8 -18

𝒖(𝒙) -4,5 -2 -0,5 0 -0,5 -2 -4,5

𝒇 𝒙 = 𝒂 ∙ 𝒙𝟐

a Beschreibung

𝒂 < −𝟏

• nach unten 
geöffnet

• schmaler als 
Normalparabel

𝒂 = −𝟏
• nach unten 

geöffnet
• Normalparabel

−𝟏 < 𝒂 < 𝟎

• nach unten 
geöffnet

• breiter als 
Normalparabel

𝟎 < 𝒂 < 𝟏

• nach oben 
geöffnet

• breiter als 
Normalparabel

𝒂 = 𝟏
• nach oben 

geöffnet
• Normalparabel

𝒂 > 𝟏

• nach oben 
geöffnet

• schmaler als 
Normalparabel


